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The area of a triangle is 15sqcm and the radius 

of its incircle is 3 cm. Its perimeter is equal to:

त्रिभुज का क्षेिफल 15 वर्ग सेमी. ह ैऔर इसके अन्तःवृत्त 

की त्रिज्या 3 सेमी. ह।ै इसका पररमाप बराबर है -

A) 20 cm  

B)  10 cm

C) 12 cm

D)  5 cm
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Six cubes, each of edge 2 cm, are joined end 

to end. What is the total surface area of the 

resulting cuboid in cm2 ?

2 cm भुजा वाले छः घनों को त्रसरों से जोडा जाता ह।ै तब 

पररणामी घनाभ का कुल पृष्ठीय क्षेिफल क्या ह?ै

A). 104

B). 128

C). 96

D). 144
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Ramesh purchases a table and a chair for Rs. 3,900 

. He sells the table at a profit of 8% and the chair at a 

profit of 16%. He earns a profit of Rs. 540 . What is 

the difference between the original price of the table 

and the chair?

रमेश रुपये 3,900 में एक मेज और एक कुसी खरीदता ह।ै . वह मेज 

को 8% के लाभ पर और कुसी को 16% के लाभ पर बेचता ह।ै वह 

रुपये 540 का लाभ कमाता है मेज और कुसी की मूल कीमत के 

बीच क्या अंतर ह?ै

A) 2000

B) 1800

C) 1900

D) 1700
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The circumference of the two circles is 110 cm
and 330 cm respectively. What is the 

difference between their radii?

दोनों वृत्तों की पररत्रि क्रमशः 110 सेमी और 330 सेमी ह।ै 

उनकी त्रिज्याओं में क्या अंतर ह?ै

A) 70 cm

B) 15 cm

C) 46 cm

D) 35 cm
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If sec2 𝐴 + tan2 𝐴 = 3, then what is the value 

of cot A ?

If sec2 𝐴 + tan2 𝐴 = 3, तो फफर cot A मान क्या?

A) 
1

3

B) 0 

C) 1

D) 3
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If 𝑥 +
1

𝑥
= 6, then find the value of 

3𝑥

2𝑥2−5𝑥+2

If 𝑥 +
1

𝑥
= 6, तो 

3𝑥

2𝑥2−5𝑥+2
मान क्या?

A) 1  

B)  3/7

C) 2/3

D) 0
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If 𝜃 is an acute angle and tan 𝜃 + cot 𝜃 = 2, 

then the value of tan200 𝜃 + cot200 𝜃 is:

यफद 𝜃 एक न्यूनकोण ह ैऔर tan 𝜃 + cot 𝜃 = 2, तो मान 

क्या tan200 𝜃 + cot200 𝜃 ?

A) 1 

B)  2

C) -1

D) 0
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In △ 𝑃𝑄𝑅, ∠𝑄 = 90∘, 𝑃𝑄 = 8 cm and ∠𝑃𝑅𝑄 =
45∘. Find the length of 𝑄𝑅.

यफद △ 𝑃𝑄𝑅, ∠𝑄 = 90∘, 𝑃𝑄 = 8 cm और ∠𝑃𝑅𝑄 =
45∘. 𝑄𝑅 की लंबाई ज्ञात करें ।

A) 6 cm 

B)  3 cm

C) 5 cm

D) 8 cm
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Aarif, Arun and Abraham can do a work in 12, 20 

and 24 days, respectively. They all begin together. 

Arun leaves the work 3 days and Abraham 6 days 

before its completion. In how many days is the work 

finished?

आररफ़, अरुण और अब्राहम एक काम को क्रमशः 12, 20 और 24 

फदनों में कर सकते हैं। वे सभी एक साथ शुरू होते हैं. अरुण काम 

पूरा होने से 3 फदन पहले और अब्राहम 6 फदन पहले काम छोड दतेा 

ह।ै कायग फकतने फदनों में समाप्त होर्ा?
A) 8 

B)  10

C) 11

D) 9
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A conical vessel, whose internal radius is 20 cm and 

height is 27 cm, is full of water. If this water is poured 

into a cylindrical vessel with internal radius 15 cm, 

what will be the height to which the water rises in it?

एक शंक्वाकार बतगन, त्रजसकी आंतररक त्रिज्या 20 सेमी और ऊंचाई 

27 सेमी ह,ै पानी से भरा ह।ै यफद यह पानी 15 सेमी आंतररक 

त्रिज्या वाले एक बेलनाकार बतगन में डाला जाता ह,ै तो इसमें पानी 

फकतनी ऊंचाई तक चढेर्ा? A) 16 cm

B)  10 cm

C)  12 cm

D)  14 cm
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The average age of six members of a family is 40 

years. If the age of a guest is included, then the 

average age increases by 12.5%. What is the age (in 

years) of the guest ?

एक पररवार के छह सदस्यों की औसत आयु 40 वर्ग ह।ै यफद अत्रतत्रथ 

की आयु भी शात्रमल कर ली जाए तो औसत आयु 12.5% बढ जाती 

ह।ै अत्रतत्रथ की आयु (वर्ों में) क्या ह?ै
A) 59  

B)  65

C) 75

D) 69
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If 𝑥 = 222, 𝑦 = 223 and 𝑧 = 224, then find the 
value of 𝑥3 + 𝑦3 + 𝑧3 − 3𝑥𝑦𝑧

यफद 𝑥=222,𝑦=223 और 𝑧=224, तो 𝑥3 + 𝑦3 + 𝑧3 −
3𝑥𝑦𝑧
का मान ज्ञात कीत्रजए

A)2007  

B)  2004

C) 2006

D) 2005
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If sec 𝐴 =
5

4
, then the value of 

tan 𝐴

1+tan2 A
−

sin A

sec A

is:

यफद sec𝐴=5/4, तो 
tan 𝐴

1+tan2 A
−

sin A

sec A
का मान ह:ै

A) 2   

B)  1

C) 0

D) 3
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If 𝑎, 𝛽 are the roots of 6𝑥2 + 13𝑥 + 7 = 0, then 

the equation whose roots are 𝛼2, 𝛽2 is:

यफद 𝑎,𝛽 6𝑥2 + 13𝑥 + 7 = 0 के मूल हैं, तो वह 

समीकरण त्रजसके मूल 𝛼2, 𝛽2हैं:

A) 36𝑥2 − 87𝑥 + 49 = 0
B) 36𝑥2 − 85𝑥 + 49 = 0

C) 36𝑥2 − 85𝑥 − 49 = 0
D) 36𝑥2 + 87𝑥 − 49 = 0
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A policeman spotted a thief 40 metres ahead of him. The 

moment they both saw each other they started running in the 

same direction on the same track. The thief was running at 10 

m/sec and the policeman was chasing him at the speed of 

12 m/sec. How much distance (in metres) the policeman 

needed to cover to catch the thief?

एक पुत्रलसकमी ने अपने से 40 मीटर आर्े एक चोर को दखेा। जैसे ही उन दोनों 

ने एक-दसूरे को दखेा वे एक ही टै्रक पर एक ही फदशा में दौडने लर्े। चोर 10 

मीटर/सेकंड की र्त्रत से भार् रहा था और पुत्रलसकमी 12 मीटर/सेकंड की र्त्रत 

से उसका पीछा कर रहा था। चोर को पकडने के त्रलए पुत्रलसकमी को फकतनी 

दरूी (मीटर में) तय करनी पडी?

A) 180 

B)  240

C)  200

D)  225
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If cos 𝜃 + cos2 𝜃 = 1, find the value of sin4 𝜃 + cos2 𝜃

यफद cos 𝜃 + cos2 𝜃 = 1, तो मान क्या sin4 𝜃 + cos2 𝜃

A) 2cos 𝜃
B) 2cos 𝜃

C) 2sin 𝜃
D) 2Sin 𝜃
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A solid metallic sphere of radius 12 cm is melted and 

recast into a cone having diameter of the base as 

12 cm. What is the height of the cone?

12 सेमी त्रिज्या वाले एक ठोस िातु के र्ोले को त्रपघलाया जाता ह ै

और 12" सेमी आिार व्यास वाले एक शंकु में बदल फदया जाता ह।ै 

शंकु की ऊंचाई फकतनी ह?ै

A) 258 cm

B) 192 cm

C)166 cm

D) 224 cm
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A sum of money doubles itself in 7 years at simple 

interest. In how much time will it become 5 times of 

itself?

सािारण ब्याज पर एक िनरात्रश 7 वर्ग में दो र्ुनी हो जाती ह।ै 

फकतने समय में यह स्वयं का 5 र्ुना हो जायेर्ा?

A) 25 years

B)  28 years

C) 23 years

D) 21 years
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If a 7-digit number 54𝑝3987 is divisible by 11 , then 𝑝
is equal to:

यफद 7 अंकों की संख्या 54𝑝3987, 11 से त्रवभाज्य ह,ै तो 𝑝 बराबर 

ह:ै

A)  5

B)  9

C)  4

D)  1
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The value of 3.8 + (8.2 ÷ 4.1 × 2) − 4 × 3 ÷ 1.2 is:

3.8 + (8.2 ÷ 4.1 × 2) − 4 × 3 ÷ 1.2का मान है-

A). -1.2
B). -2.2
C). 2.2
D). 1.2
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The ratio of the present ages of 𝐴 and 𝐵 is 8: 9. After 

9 years, this ratio will become 19: 21. C is 3 years 

younger to B. What is the present age (in years) of 

C? 

A और 𝐵 की वतगमान आयु का अनुपात 8: 9 ह।ै 9 वर्ों के बाद, यह 

अनुपात 19: 21 हो जाएर्ा। C, B से 3 वर्ग छोटा ह।ै C की वतगमान 

आयु (वर्ों में) फकतनी ह?ै

A). 51
B). 48
C). 49
D). 52
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The ratio of the ages of 𝐴 and 𝐵, four years ago, was 

4: 5. Eight years from now, the ratio of the ages of 𝐴
and 𝐵 will be 11: 13. What is the sum of their present 

ages? 

चार वर्ग पूवग 𝐴 और 𝐵 की आयु का अनुपात 4: 5 था। अब से आठ 

वर्ग बाद 𝐴 और 𝐵 की आयु का अनुपात 11: 13 होर्ा। उन दोनों 

की वतगमान आयु का कुल योर् क्या ह?ै

A). 72 

वर्ग/years

B) 96 

वर्ग/years

C). 80 

वर्ग/years
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Walking at 
3

5
of his usual speed, a person 

reaches his office 20 minutes late than the 

usual time. His usual time in minutes is :

एक व्यत्रि अपनी सामान्य र्त्रत की 
3

5
की र्त्रत पर चलते 

हुए अपने कायागलय में सामान्य समय से 20 त्रमनट दरेी से 

पहुुँचता ह।ै कायागलय पहुुँचने का उसका त्रमनटों में सामान्य 

समय ह-ै

A). 25

B). 40

C). 30

D). 20




